%
\
\%
-
- |
OcBewenue |
=X npoekm —
)
III l I' 2 ﬂ ' qH p— l IH' e = = 3468.85
n a K 0 0 K a 0 fl 0 fl K O S R octeuene
L L [ ] 20>  npoexm
S 341876
=
X(Lo(asmeuue
npoekm
\ 2468.88
. \2\
OcBewenue \2\
[ ] npoekm — \
21450.35 'ng\r;\
2
2\
\r;
KA
\’ \ K\ OcBeuwenue
OcBewenue < '~ npoexm
APOEKM —q N2 1418.91
21,0062 © ‘%\
{ Ocbeuenue
e\ )  npoexm
\% n‘uagv 0+68.91
g e
R N> OcBeuerue
i N K e
20+73.39 - \g@/ npoexm
OcBewenue \&( 0+18.91
npoexm —~__ \2\ 20+50.60
2044985 N\ L 8
2 2
T
W
=)
OcBewenue \2\ &
mpoen —~ A2\ P
199967 \a\ B
\e\
\%\
S
\"\
OcBewetue
npoexm —
19450.13
\
OcBeueHue \\(;., \
npoekm — NS\
19:0045 X\
\a
%
\&
OcBewerue
npoekm —
18+50.81
G‘ \
Octeuenue  \ g\
MPoSKM o\ \
18:0126 S \B\
AN
\EN
&\
N2\
\\ \
\Z\
Ocbewenue \'”ap\\
NPoEKM —~ o>
1745126 "x{\o
\%\
ACAN
e\
Ocbewerve  \ 2\
npoekm — .;{Xo(,\
1740136 \%‘\
\\{r\
Yo
2\
N\
%
s,
Octeuene  \7
npoexm —
1645171
OcBewerue
npoeKM o
1640188
o\
0,
%
\
OcBewenue
npoekm —
15451.74
N2\
&\
\\a
2\
OcBeuerie  \ &\
npoekm ﬁ\g\*%\\
+ ‘%
15+0151 \? \
\%
G\
\%\
N\
OcBewenue
npoekm —— %\
15124 ARAN
\e AN
%\
\Z\
N\
&\
\
OcBewetue
npoexm —
1+0114
OcBewenue
npoekm —
1345001
Ocbewenue
npoekm —
12499.02
OcBewerue
npoexm —
1244902
OcBewerue
npoekm —
11+98.91
OcBewenue
npoekm —,
144891
OcBewerue
npoem —
10+98.82
OcBewerue
npoem —
1044890
OcBewerue
npoexm —.
9499.09 )
OcBewenue
— npoekm
944918
8498.89
OcBewenue
npoexm —
2549674
OcBewenue
L/ npoekm —
B+49.14
OcBewenue
npoekm —
25+46.08
& OcBewenue
/ npoekm —
OcBewenue ISk 7+98.93
- ISE
npoeKm —, /
w9616
~’/§“/ OcBewerue
npoexm —
ﬁ 7+49.36
oo |7
—~//
24+46.24 M@’
IS
&
[
™
/]
5
Iy OcBewenue
/Y npoexm —
L/ 740047
OcBewetue g
npoexm ——=g(
23495.39
Va)
2
Ocbeuenve %\
mpoexn — s\
6+51.47 &)
AN
\\%\
2
OcBewerue
npoexm —
640265
S &
ey OcBewenue
7 L npoexm
/ -
- 545352
OcBewerue )2
npoekm —~
540261
OcBewenue
npoexm —
/f_@ 4+52.26
Ocbewenue
mpoern S
2004231 %
g
o e ~ @;ﬂ@ Octeuene
19+92.08 e npoEKM —
O 440204
OcBewenue &
npoEKM — s
ezl o o
OcBeuwenue éﬁﬁ'@
npoekm g
OcBeuenue 189146 g5 OcBeuwenue
npoem w000 npoEKM
OcBewenue 18+41.16 3+52.04
OcBewetue npoekm
OcBewetue npoexm 17490.74
OcBewenue npoexm 1744050 i
T 1280
npoekm 16+90.59 - {25000 176000 — S\
1644045 quou 172000t 2,
OcBewenrue
npoexm —
340178

OcBewenue
npoexm
15+90.45 \ﬁ(

OcBewenue
e
643923\ OcBewerue
X npoexm —
6+89.23  \ OcBeueHue
: N
03.92 u Df 743923\ OcBewenue
8 - Tae - -
Vi, b 2 T\
: npoekm —
8+39.17  \ OcBewenue
e — e
88917 OcBeuenue
et
9,30.47 OcBewerue
"o
- 948917  \ OcBewenue
07 00—, npoekm —
1043917\ OcBewenue
o
10+89.20 OcBewenue
e e Octeneme
1120, npoekm —
OcBeuterue 711489 20 \}g( OcBeweHue
npoekm — S npoekm —
0338 8 - 1243909 OcBewenue
20 npoekm —
12+89.09 \k( OcBewenue
Ocbewenue P - S Ocbewenue
npoeKM ——, ~ npoekm — OcBeweHue OcBeweHue
OcBeuenue 35050 X .,@»ﬁ 1348954\ npoexm O[ﬁ:‘:‘::ﬁr: npoekm
mpoeKm —y e 1%+39.71 XX( 1470032 & 1504045 )
0Och 2499.87 = 0000755 — — e —
S poekn —_ . 00000t g g RIOT TS0I0 152000 156000
2+49.8% ~ X
—— [paHuua JdopoXxH020 NOKpbLIMUS . §i>> ®akmuyecku ycmHoBaeHHbIU BOPOXHbIU 3HAK
A {eyu,
B ( . -
MewexodHele o2paxdeHus (npoekm) » Mpoexkmupyemsld dopoXHbIU 3HAK
2.1 (HoB
MpaHuua mpomyapa (npoekm)




